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bulk costs increase survival greater
marketing broadband loss revenue cut

Entrich plc runs a national chain of boutique hotels in the UK. Profit is vital for its long-term

. This means that revenues have to be than costs. Last year the business
made a small . It does not want to repeat this next year and has made changes to

costs and increase . It realises that it has not been attracting enough
business customers and has to improve its . It has decided to offer two or three
nights stays with extras, such as theatre tickets, free calls and private car transport services. It is
also offering free wireless access throughout its hotels. It has identified that buying
materialsin can reduce costs. Last year the highest increase in was staff

wages but this year it does not plan to offer an in wages to help control costs.






How to improve profit

1.
Which one of the following would lead to an increase in profit for a business? Select one answer.

A
An increase in costs with a fall in revenues

B
An increase in costs with a smaller increase in revenues 

C
A fall in costs with a larger fall in revenues
D
A fall in costs with a rise in revenues

2. 
Arroba is a company that designs and makes computer games. It is struggling financially and has decided to make a quarter of its workers redundant. Which one of the following is most likely to be a disadvantage of this decision for the company? Select one answer.


A
Remaining workers could become more motivated

B
Costs are likely to rise in the medium term

C
It will be more difficult to produce new computer games

D
Arroba will have to increase the prices of its products

3.
A bus company, faced with rising costs, decides that it has to increase its bus fares to keep its profit stable. A rise in bus fares will only increase total revenues if 

A
costs also fall

B
more people travel on the buses

C
profits do not fall

D
the fall in the number of bus passengers is less as a proportion that the rise in bus fares


Select one answer.
4. Fill in the blanks.
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